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#include <stdio.h>
#include <stdlib.h>
#define X 3
#define Y 4
void funA(int %, int, int), funB(int %, int, int);
int main(void){
int arr[X][Y] = {{1,2,3,4}, {5,6,7,8},{9,10,11,12}};
printf(”ﬁﬁﬂ!li \n");
funA(*arr, X, Y);
funB(*arr, X, Y);
printf("ﬁﬁﬂ:Zi \n");
funA(*arr, X, Y);
system(" pause" ) ;
return 0;

}

void funA(int *ptr, int x, int y){
int i, j;
for (i=0;i<x;i+4+){
for(j=0; j<y;j++)
printf("%3d ", *(ptr+iXy+j));
printf("\n");
}
}

void funB(int *ptr, int X, int y){
int i, j;
int arr{x][ly];
for (i=0;i<x;it+t+)
for(j=0; j<y; j++)
arr[x-i-1][y-j-1] = *(ptrti*y+j);
for (i=0;i<x;i++)
for(j=0; j<y; jtt)
*(ptrti*y+j) = arr[i][j];
}
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01 while(True):
02 number=input(" 3 “]/\ Itz |:E:m?§$t@‘.z\§i%] Mg RQ REAES)
03 if (number. upper()!— Q):

04 while(len(number)<3):

05 number=input(”$ﬁ)\ BE R 2 ko EAT ﬁﬁ ")
06 listA = []

07 for x in number:

08 listA. append(int(x))

09

10 var=0

11 for y in listA[0:len(listA)-1]:

12 var+=y

13 if (var%l0==1istA[-1]):

14 print(var%10, listA[-1], number, ” is acceptable” )
15 else:

16 print(var%10, listA[-1], number, ” is unacceptable” )
17 else:

18 break

A EPythonfE=RE » BT & FE R BAIAN T A ZEBIMUKES 5T T - RILEEER i Pythonffy &
R REREAT |2 - Pythonfy SR %12 B i RAVEDRIGERE - As{RE ([ Fappend () B &R ARSI > FEHIA
AL PythonsE & {7 & f e e B o

EIath | (5% - & GG SRS ) 0 FFRIAYREE > 5197-200 -

Y
. while(True): # ki Ry EA T R B
number=input("FEim A 2 /0 =i By E BUE B QB Q4E MR AR ") # A2/ = AT EEEE
if(number.upper()!="Q’): # RN ZEAQEQ
while(len(number)<3): LTS WNERE I E L TR ITA 4
number=input("g AME 2/ D/E B =A% FHEFEA ") # BT A 2D = B
listA =] # HE—{EZ2E B
for x in number: # Brnumber N FYE— {7 ELETH 45X
listA.append(int(x)) # xR BB % o [T INE] A listAT% [H
var=0 # EEEE var sk Ay 0
for y in listA[O:len(listA)-1]: # RS h IR A BB R R4Sy
var+=y # By{E Engsvar
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if (var%10==listA[-1]): # HUH vare {7 SElistA SR 1Y iy
print(var%210, listA[-1], number, "is acceptable")
else:
print(var%210, listA[-1], number, "is unacceptable™)

else:
break
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#include <stdio.h>
#include <stdlib.h>

int Randomize(int n){
time_tt;
srand((unsigned) time(&t));
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return rand()%n+1;

}
int main(void){
int input=0, num=1, max=0, ans=0, low=1, high=1;

do{
printf(" 55 AZ FE OV AT AME (£ /D E KR 20) 1),
scanf("%d", &max);
if(max<=20){
printf("ify ASE2% | %di2 45 AH20 » SEEEHTAH A | \n", max);
Jelse{
break;
}
Twhile(2);
high=max;
do{
printf("Z5%dZEZ:", num);
scanf("%d", &input);
if(ans!=input){
if(input<ans){
low=input>low?input:low
Yelse{
high=input<high?input:high;
}
printf("E 2 Fy: JESE T - BEIL %d B %d ZfEN\n", low, high);
Yelse{
printf("Z&E0RIFE T \n");
break;
}
num-++;
Jwhile(hum<=10);
if(num>10){
printf(" [EREZ ZE2: %d\n", ans);
}
return O;

}
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#include<stdio. h>
#include<stdlib. h>

int funA(int x), funB(int y);

int main(void){
printf(" funA(5)=%d, funB(5)=%d\n", funA(5), funB(5));
return 0;

}
int funA(int x){
int 1, answer=1;

1f(x<1)
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return -1;
for(i=1;i<=x;i++)

answer*=(i%*2);
return answer;

}

int funB(int y){
1f(y<1)
return -1;
else if(y==1)
return 3;
else
return 3%y + funB(y-1);
}
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funA(5)=3840, funB(5)=45
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import java.io.*;

public class HeronFormula {

private int a;

private int b;

private int c;

public HeronFormula() {
a=0;
b=0;
c=0;

¥

public HeronFormula(int a, int b, int ¢) {
this.a=a;
this.b=b;
this.c=c;

public void inputSide() throws IOException {
do {
System.out.print("s5 i ARRON =IEE © );
BufferedReader bfl = new BufferedReader(new InputStreamReader(System.in));
String str = bfl.readLine();
String[] tokens = str.split(",");

a = Integer.parselnt(tokens[0]);
b = Integer.parselnt(tokens[1]);
¢ = Integer.parselnt(tokens[2]);

if(a>0 && b>0 && ¢>0)
break;
else
System.out.print("#if A gzR 5 ");
Jwhile(true);

public boolean getAssessResult() {
if(a+tb>c && b+c>a && c+a>b)
return true;
else
return false;
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public int getPerimeter() {
if(getAssessResult()) {
return a+b+c;

Yelse {

return -1;
}

}
public double getArea() {
if(getAssessResult()) {
double s = (a+b+c)/2.0;
return Math.sqrt(s*(s-a)*(s-b)*(s-c));
Yelse {

return -1;
}

}
import java.io.*;
public class Main {

public static void main(String[] args) throws IOException {
String str="";
HeronFormula hf = new HeronFormula();

do{

hf.inputSide();

if(hf.getAssessResult()) {
System.out.printin("E-E& " + hf.getPerimeter());
System.out.printin("mfEZFL:" + hf.getArea());

Yelse {
System.out.printIn(" iy AR = {EE B AR R = ATP");

}

System.out.print("4E48 5 ? FHABLEEDT - FEILYECYY);
BufferedReader bf = new BufferedReader(new InputStreamReader(System.in));
str = bf.readLine();

Iwhile(str.equalsignoreCase("'y"));

.



